
s|=d= of]hgfsf] gfd ljlgof]lht ah]6 ;+;f]wg tyf yk ah]6

! s[lif  $*,)),))).–

@ kz' -cf}ifwL tyf 3f; vl/b_ %))))).– ^@)))).–

pBf]u jfl0fHo tk{m

! Joj;foLs l;k ljsf; tflnd !@%)))).–

@ cfw'lgs 3§ #)))))).–

! ldu' cfw'lgs 3§  lgdf{0f j8f g+= % !*)))).–

@ j8f g+= $ jfO{ cfw'lgs 3§ lgdf{0f !*)))).

# j8f g+= $ 5fk' cfw'lgs 3§ dd{t of]hgf %)))).

$ j8f g+= $ km}tf cfw'lgs 3§ lgdf{0f !*)))).

% j8f g+= # dfyL h'sf]6 !*)))).

^ j8f g+= # tn h'sf]6 %)))).

& j8f g+= ! hf]? cfw'lgs 3§ lgdf{0f !*)))).

* j8f g+= ! as'{ cfw'lgs 3§ lgdf{0f !*)))).

( j8f g+= ! lhu'jf 3§ lgdf{0f of]hgf !*)))).

!) j8f g+= ! d'lQmsf]6 3§ lgdf{0f !*)))).

!! j8f g+= @ v8fnjf8 3§ lgdf{0f !*)))).

!@ j8f g+= @ ;'kfgf 3§ lgdf{0f !*)))).

!# j8f g+= # cf]vn?v dd{t %%))).

!$ j8f g+= # h's' dd{t %%))).

!% j8f g+= # hf]? ljr s]Gb| !*)))).

!^ lkn'kf/L af6f] lgdf{0f #%)))).

!& 9'ªu]wf/f  lgdf{0f h'sf]6 !%)))).

!* d]zLg/L cfhf}/ vl/b !*)))).

ko{6g tk{m !%))))).

! /]ˆ6Lª vl/b ;fdfu|L %))))).

;xsf/L %))))).

! ;xsf/L Ifdtf ljsf; sfo{qmd %))))).

 cfly{s ljsf; ;ldltsf] s'n ah]6 M !,^%,%),))).   



1 :j/f]huf/ 5000000

1 jfx"gL Kofh e)*f/ #/ lgdf{)f 6,000.00

2 l(s"/L l;+rfO{ s"nf] lgdf{)f 3,000.00

3 ?kfnL k|f=lj= lkmN* lgdf{)f 1,000.00

4 nf}&L vfk/ynf] lkmN* tyf vfg]kfgL 3,000.00

5 h"s]d'n vfg]kfgL of]hgf 1,50,000.

6 ebfnrf}/ vfg]kfgL of]hgf 500.00

7 rfsfuf]& l;+rfO{s"nf] lgdf{)f 1,75,000.

8 :jf:Yorf}sL kmlg{r/ vl/b 1,50,000.

9 :jfdLsflt{s p=df=lj= %fgf dd{t lk=;L=;L= 3,000.00

10 r"nLuf* emf]=k"=af^f] lgdf{)f 500000

11 :jf:Yorf}sL #]/af/ 60000

12 blnt ejg knfi^/ 60000

13 sf]^]s"nf] lgdf{)f 300000

14 cw]/Lvf]nf vfg]kfgL 43000

15 Ogwgdf 1100000

16 cf}iflw vl/b 400000

17 k/Liff ;+~rfng 553000

18 j*f g+= 3 sf] lxn ^+sL 20000

19 jfn"jf t^jGwg 200000

;fdflhs ljsf; 11602000

lzIf tkm{ 3000000

1 e}/jgfy df=lj= #]/jf/ 400000

2 lxdr"nL k|f=lj= %fgf dd{t 200000

3 :jfdLsflt{s p=df=lj= #]/jf/ 300000

4 s)ff{nL k|f=lj=#]/jf/ 300000

5 zDe' ;"gGbf p=df=lj= #]/jf/ 300000

6 rfv"*]ynf k|f=lj= #]/jf/ 300000

7 /f#"dftf df=lj= sIff sf]&f kmd{ lgdf{)f 400000

8 sflnsf lg=df=lj= #]/jf/ 200000

9 s"nfb]jL df=lj= %fgf dd{t 300000

10 ;To zfxL k|f=lj= #]/jf/ 300000



zf}rfno

1 zDe' ;"gGbf p=df=lj= 166666

2 zDe" ;"gGbf df=lj= 166666

3 e}/jgfy df=lj=  166666

4 /f#"dftf df=lj= 166666

5 :jfdLsflt{s p=df=lj= 166666

:jf:Yo tkm{ 2102400

1 Onfsf :jf":Yo rf}sL lkmN* tyf #]/jf/ 340000

2 ;fd"bflos :jf:Yo rf}sL kmlg{r/ #]/jf/ 250000

3 :jf:Yo rf}sL hUuf vl/b tyf ejg lgdf{)f 700000

4 :jf:Yo rf}sL dd{t tyf #]/jf/ 250000

5 ufp++#/ lsBgLs Joj:yfkg cf}iflw vl/b 60000

6 cf}iflw vl/b 200000

7 dlxnf :jo+d;]ljsf lgjf{x eQf 302400

;f+:s[lts tyf  k"/ftflTjs 400000

d& dlGb/ 1600000

n}lªs ;dfgtf tyf ;dfj]zLs/)f 3000000

1 g]kfn blnt ;]jf ;dfh k|f]kmfOn 510000

2 g]kfn blnt d~r afh"/f r]tgfd"ns sfo{qmd 350000

3 zDe" ;"gGbf afn clwsf/ d~r 40000

4 dlxnf z;lQms/)f 500000

5 h]i& gful/s lzjL/ ;+~rfng vr{ 1600000

v]ns"b tyf dgf]/~hg 500000

1 :jfdLsflt{s o"jf Snj 300000

2 h]/f o"jf Snj 50000

1 dfgf]sf^L l;rf+O{ ^+sL lgdf{)f 150000

ef}lts k'jf{wf/ 56500000

l;rf+O{ sfo{qmd 11200000

1 ?(L l;rf+O{ s"nf] 600000

2 (Ls"/L l;rf+O{ s"nf] dd{t 170000



3 eTf]*L uf* ;DefJojotf cWoog 170000

4 vNnf s"nf] lgdf{)f 700000

5 sf]^]s"nf] dd{t 1700000

6 lnkm^ l;rfO{ ;DefJjotf cWoog 450000

7 lsp/L l;rfO{ s"nf] 400000

8 %"b/L afn"jf l;+rfO{ s"nf] 500000

9 h"s"nf b]vL gf}s"nf] ;Dd 400000

10 t"iff/kfgL b]vL v*Lsof ;Dd lgdf{)f 350000

11 rfsfuf]& s"nf] lgdf{)f 350000

12 e}yfg ("ªu] wf/f lgdf{)f 150000

13 ldu" k]N^L;]^ lgdf{)f 550000

14 l;rfO{ kf]v/L d"lQmsf]^ 300000

15 d"u|fxf l;rfO{{ ^+sL 300000

16 l;rfO{ ^+sL lgdf{)f j*f g+= 4 300000

17 l;rfO{ ^+sL &fªu|f 30000

18 afdgyfg l;rfO{ ^+sL 400000

19 d{dt ;+Def/ 50000

h"s"nf b]vL gf}s"nf] ;Dd l;rfO{ of]hgf af^

1 tNnf] kg]/f b]vL aHh"df*" ;Dd af^f] 200000

2 ;]jfvn kjL{df)*f}+ dlGb/ lgdf{)f 200000

e}/jgfy k|f=lj= lkmN* lgdf{)f 50000

n#" hn ljw"t tkm{ 1200000

1 e"sf+xf n=h=lj= 100000

2 h"*\*L n=h=lj= 100000

3 a*Luf* n=h=lj= 100000

4 vfnLvf]nf n=h=lj= 900000

vfg]kfgL tkm{ 1600000

1 hdfl; vfg]kfgL 1200000

2 e}g] vfg]kfgL 400000

#/hUuf 13200000

1 sfof{no hUuf vl/b ^x/f lgdf{)f 1200000

2 j*f tyf sfof{no ;fdu|L vl/b ug{] 1200000

uf=kf= sf] ejg lgdf{)f 10000000



1 uf=kf= sf] c:yfoL ^x/f lgdf{)f 2300000

1 kz";]jf sfo{qmd 620000

2 ^«fG;ld^/ ("jfgL 900000

;*s lgdf{)f tkm{ 27500000

1 ;"Olhpnf :jf=p=df=lj= 5000000

2 kfy/ rf}sf h"sf]^ j*f s]Gb| ;Dd 5000000

3 ufp+ k|x/L sfo{qmd 1000000

4 ;+rf/ rfn" 150000

5 kfgL tyf ljw"t 2000000

6 ;?jf e|d)f vr{ 400000

7 ;*s lgdf{)f sfo{qmd 10000000

j*f g+= 1 df /x]sf of]hgf / hDdf /sd 18830000

1 lhh"jf ?(L t^jGwg ?(L 100000

2 ?kfnL lg=df= lj=lkmN* lgdf{)f 250000

3 d"lQmsf]^ blnt ejg 60000

4 &fp+b]vL &f]uGgf ;Ddsf] af^f] lgdf{)f 183000

5 afpgL df)*f} dlGb/ lgdf{)f 150000

6 as"{ ljBfno lkmN* lgdf{)f 500000



7 afpgL Kofh e)*f/)f hUuf vl/b 290000

8 l;rf+O{ ^+sL lgdf{)f 300000

9 dfgfsf]^L l;rf+O{ ^+sL lgdf{)f 50000

j*f g+= 2 df /x]sf of]hgf / hDdf /sd 18830000 640000

1 afn"jf t^jGwg 200000

2 %"b/L e};fuf* vfg]kfgL kf/Lju/ 100000

3 gf}sfg] s"nf] lgdf{)f 250000

4 h"s]d'n vfg]kfgL ^+sL / kfOk 250000

5 ?kfnL k|f=lj= %fgf dd{t 400000

6 /f#"dftf ljBfno kmlg{r/ lgdf{)f 200000

7 %"b/L u+uf k|f=lj= zf}rfno 200000

8 /f&" vf=kf= dd{t 100000

9 %"b/L #§ t^jGwg 100000

10 n]v hfg] af^f] u"gL le/ 83000

j*f g+= 3 df /x]sf] of]hgf / hDdf /sd 1883000

1 e"s"/af*f ;]jfvnf le^f #§] ;Dd ;*s 200000

2 #^]\ kf^f sf&] ;f+u" / (+lzn] af^f] dd{t 200000

3 ;"of{bo k\f=lj= lkmN* dd{t 100000

4 lvp/f di^fdf)*f} #]/jf/ 500000

5 &"nfkf^f e}/jgfy k|f=lj lkmN* lgdf{)f 150000

6 h"s" ljBfno zDe" ;"gGbf df=lj= kmlg{r/ 200000

7 n"jf/jf*f l;nfh" kx/f ;Ddsf] af^f] 100000

8 dgdf]xg k|f=lj= hfg] af^f] lgdf{)f 50000

9 di^f rf}tf/f s*f/jf*f 83000

10 lznfh" kx/f k"n b]vL v*]nL ;Ddsf] af^f] 100000

11 *f*L lj;f}gf Clif df)*f} dlGb/ lgdf{)f 200000

j*f g+= 4 df /x]sf of]hgf / hDdf /sd 1883000

1 sflnsf k|f=lj= km}tf ejg lgdf{)f 1000000

2 :jfdLsflt{s df=lj= %fgf dd{t 300000

3 lkn" b]vL nf}&f ?v ;DDsf] af^f] lgdf{)f 200000

4 blnt ;fd"bflos ejg lgdf{)f 130000

5 :jf=sf= df=lj= #]/jf/ 153000

6 a]?kf^f h}t"g v]tL 100000



j*f g+= 5 df /x]sf of]hgf tyf hDdf /sd 1883000

1 lxdr"nL k|f=lj= dd{t tyf kmlg{r/ 200000

2 ldu" s"nf] l;+rfO{ dd{t 150000

3 e}/jgfy df=lj= dd{t tyf kmlg{r/ 200000

4 aLp a}ª«s 50000

5 tnjf*fb]vL #§]vf]nf ;Ddsf] af^f] lgdf{)f 150000

6 vfnLvf]nf n=h=lj= cfof]hgf 545000

7 blnt nlIft dlxnf ;fd"bflos ejg lgdf{)f 200000

8 lkkn rf}tf/f gfxfnfugf k"n ;Ddsf] af^f] lgdf{)f 150000

9 j*f g+= 5 dlxnf d+Gr ejgsf]] hUuf vl/b 133000

10 hjfnwf/f ("ª\u] wf/f lgdf{0f 50000

11 h]/f vf=kf= blnt ^f]n lgdf{)f 5000

12 h]/f sfnfk}; vf=kf= 50000

s[lif #f]*]^f] af^f] 1600000

1 jfO{ k"n kf/Lsf] af^f] 50000

2 lkn" kf/Lsf] af^f] 150000

3 d"lQmsf]^ x"b} vf]nfx;Dd af^f] 140000

4 hLd b]vL ?(L %"b/L ;Ddsf] af^f] 140000

5 l#ofemf*b]vL k"*]gL ;Dd 140000

6 l;dfvfn b]vL s"nQ/Ggf ;Dd 140000

7 nf]yL h]jfn] n"s"/jf*f x"b} #^\]kf^f ;Dd 140000

8 Odhfn b]vL qLz"n ;Dd 140000

9 lkn" b]vL nf}&f ?v ;DDf 140000

10 yfn]jfd b]vL :jf:Yo rf}sL ;Dd 140000

11 j*f s]Gb| x"b} sfnf ("ª\uf ^f]^fvfn ;Dd 140000

12 ldu" ljBfno b]vL j*f s]Gb| ;DD 140000

;;+rf/ tkm{ 200000



jftfj/)f tkm 3000000

1 ljkb Joj:yfkg sf]if 350000

2 b}ljs k|sf]k 900000

3 vNnf s"nf] d"xfg 500000

4 u"?of]hgf ljkb 200000

5 ;fd"bflos jg l;df lgwf{/)f 300000

7 cfly{s ;xof]u lb#{ /f]u 300000

8 s)ff{nL sf& lgoGq)f 150000

9 dbg e)*f/L xl/t sfo{qmd 300000

3000000

;+:yfut ljsf; tkm{ 1500000

1 ljleGg dlxnfx?df 1335000

2 d)*fnL dfx" 100000

3 blnt ejg lgdf{)f 65000

ufp+k|x/L 1000000

1 sfDQL l;rf+O{ s"nf] 400000

2 r"nL#f^b]vL nf^fjfdg yfg ;DD af^f] 100000

3 zDe" ;"gGbf p=df=lj= #]/jf/ 400000

4 zDe" ;"gGbf p=df=lj= zf}rfno 100000



s)ff{nL :j/f]huf/ sfo{qmd 19825000

1 :jfLsflt{s p=fg=lj= h]/f k"/fgf] af^f] ;Dd 40,00,00

2 l;Dn]vf]nf] b]vL kfy/rf}sf ;DD 40,00,00

3 ef}Gof vf*"sf b]vL nf}&f ?Vf ;DD 40,00,00

4 /fgL;}g b]vL h"s' ;DD 66,00,000

rfn" tkm{

1 sd{rf/L kfl/>lds tyf ;"ljwf 91,07,000

2 e];Lg/L cf}hf/ 6,200,000

dd{t ;Def/ tkm{ 1500000

1 sf]^}("ªuf k|f=lj= #]/jf/ 400000

2 s"nfb]jL df=lj= #]/jf/ 400000

3 :jf=sf=p=df=lj= #]/jf/ 300000

kfgL ljh"nL lzif{s tkm{ 30000

1 df]u|fxf l;rf+O{ ^+sL lgdf{)f 20000

;+Grf/ tkm{

afx"gL vf=kf= of]hgf lgdf{)f 150000

;?jf b}lgs e|d)f eQf lzif{s 500,000

;ªsNk] h*kfgL vf=kf= of= 400000

j*f g++ 5

1 sn; dlGb/ lgdf{)f 250000

2 ldu" k]G^L;]^ s"nf] 700000

3 afx|o vf]k s]Gb| 200000

4 lxdr"nL k|f=lj= ejg lgdf{)f 400000


